
Subtract 1-digit from 3-digit (Regrouping)

Go to onlinemathlearning.com for more worksheets

Write the problem in vertical form and find the difference.

925 - 9 =  

400 - 3 = 

554 - 5 =  

313 - 4 = 

802 - 7 = 

755 - 6 = 

604 - 8 = 

131 - 6 = 



Subtract 1-digit from 3-digit (Regrouping)

Go to onlinemathlearning.com for more worksheets

Write the problem in vertical form and find the difference.

925 - 9 = 916  

400 - 3 = 397 

554 - 5 = 549  

313 - 4 = 309 

802 - 7 = 795 

755 - 6 = 749 

604 - 8 = 596 

131 - 6 = 125 


